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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
1x10=10

FafRecaRe Poram Tes i (R e w=b) :

(a) ‘“‘An argument is merely a collection of
propositions.’’ Is it true?

“qbl I A @ RgW oW W 1
BT SFBTCT 2

(b) On what depends, the validity of an
argument?
IfReq (Aol R 8oqo 63 17
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(c)

(d)

(e)

(1)

(g
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(2)

Give an example of class membership
proposition.

e TETeE o B T i |

“A valid argument can never have true
premises and a false conclusion.”
(Write True or False)

gy Cay IS TS S o7 S 95l A
s @hfome AR @R 17

(o1t ¢ i for<)

What is the symbolic form of universal
negative proposition?

R Al 674 O oF 1 21 7 2

What is the name of the subject of the
conclusion of a syllogism?

e Bt S mee N 2

Which is the symbol that indicates the
form of a compound proposition in
symbolic logic?

AT SFRGTS (P! LOIF @A T
ORI SR 3o 0 ?

( Continued ) |

(h)

(i)

()

(k)
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(3)

Does a variable contain a definite
meaning?

b1 41 {99 @ e e s 2

Find out the alternative i)roposition from
the following :
OoT AN <1 (s ool AR St -
(i) 1 eat rice or bread.
2 o w31 F( 49 |

(ii) Either he or I shall go.

(S€ P AN |
(iii) He is alive or dead.
o8 §ifis 231 7S |
According to the rules of syllogism, if one
premise is negative, then conclusion will
be :
(Fill up the blank)

TR e SR, I 9o sy e
T2fF W, (o= @ Prare 291

(31T 37 et 1)

Is truth table method a decision
procedure?

eyl I TS Bl BRI afe g 9
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(4)

() In obversion, there is a change in the
quality / quantity / both quality and
quantity between premise and conclusion.

(Find out the correct answer)

ofoqeTe I WF Paed WEe 8
oSy [/ AR “ReSH [ @1 e ARTR
Toyd oIfIqeT = |

(v Seach! qIfR Sferen)

(m) Mention one important relation between
symbolic logic and traditional logic.

AT SFRE F TR SHRAEAMAT
TrEe 4Pl b1 BFGeYf T TCEd |

(n) ‘BOCARDO’ is a valid mood of the

___ figure.
(Fill up the blank)
‘BOCARDO’ ILEI 9Bl (Y IfS |
(41T 91 =7 1)

(o) Who is the father of Logic?
SF @ T @ 2

( Continued )

2. Answer briefly (any five) :
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(5)

WWW(@@W%):

{a) Mention two characteristics of argument.

fes o1 CafET Teay 90 1

(b) State two differences between proposition
and argument.

757 o1 Yo e 2 o1~ o |

(c) Are A, E, I, O propositions categorical or
conditional? Which term is distributed in
a negative proposition?

A, E, I, O TIER A=eers ¢ ST ? Tl
oS S % 0 72

(d) Define one-predicate proposition  with
example.

<« R o7 TraepTz e i |

(¢) Name  the authors  of  Principia
Mathematica.

Principia Mathematica 2% ERF (F1 ?

(f) Define immediate inference with example.

TRIERPTR ST SR ! e |

2x5=10
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(6) (7‘)

(¢) "“He gave me a nice present in my (c) Transform the following sentences into their
birthday.”” Find out the ‘referent’ and logical form of propositions : 1x5=5
‘relatum’ of this proposition.

" TS Wil IAIER RSP 6t ARTS
“o8 @R TS 9B PR SorE fifee 17 W
G TONCON TP’ S1F STad” 1R Sfeea |
(i) All that glitters are not gold.

(h) What is the fallacy of undistributed ST SRR T G 7 |

middle?

I T (T T 5 (ii) Every man is liable to error.

Afoe TR v A |
3. Answer the following questions (any four) : 5x4=20 ' ] (iii) Lions never eat grass.
Al epgears T fran (R cien wifds) Fizez fems S e |
(a) Write a short note on (any one) : 5 (iv) Almost all people are present in the
Y (BRI o (R ceemr i) meeting.
(i) Truth and validity AT SFPCE] LR oIS TofFre Wi |
Terel SF (35l (v) Only intelligent students can pass the
(i) Square of opposition of proposition examination.
579 {9314 e 9cwa &9e JaaH Qe R TR 7'y
MA |
(b) What is symbol? State four utilities of using
symbols in logic. 1+4=5 (d) What is simple proposition? State different
4o 57 wHREEe 40 5 types of simple proposition. 1+4=5
Cefefirer Sear 47 | T T FI 17 3 o7 R errorgs
% %, Tae 91
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(8)

(e) What is logical constant? State differences
between logical constant and logical

variable. 2+3=5
<% SRTR T @AE? 99 SRR o
TE verq Tre I N4 o |

(f) What is conversion? Make converse of
the following propositions : 2+3=5

SIS I @IE? TS ST I5ACRRN
SO 41 r

(i) All men are mortal.

SRCE] T ZY TR |
(ii) No men is perfect.
CRTCA! T 12 < |
(iii) Some men are honest.
et TR 2 3T |
(g) State the general rules of syllogism. 3
TRR A1qEel AT a4 |

(h) Explain four-fold scheme of proposition. 5

14 HPIAT ARSI I Pl

92A[1229 ( Continued )

(9)

4. Answer the following questions (any four) :

10x4=40
e oERe es T ([ e oif o) -

(a) Define syllogism and
characteristics.

explain  its
2+8=10

R sige e 2 aRERTR e 10|
(b) What is figure of syllogism? Explain

different
examples.

figures of syllogism with

2+8=10

TR kEF P [ ogm? TIEPR S
ffen gz I 9 |

(c) Define a proposition, according to the
modern logicians. Describe different kinds
of compound proposition with examples.
2+8=10

wiyFe SRR We, TR RS o |
Toie Srreaeacd Clee Rfen 2T @ e
3efel 0 1

(d) What is obversion? Explain the rules of

obversion. 2+8=10
AfoqéA Fe @A ? TSR TR
kil
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(10 )

(e) What is symbolic logic? Discuss the

characteristics of symbolic logic.

e SFRE F7 dORNT THREE
CIMBPTR SIICETbAT 41 |

(f) Explain differences between traditional

4+6=10

logic and symbolic logic. 10
RIS SFRAEE TF AORIEF SHRBHI
IEre 1L A1 T4

(z) Explain the process of the application
of indirect truth table method with
examples. 10
SHEIR STRITS AT el Siferdl *mhs Sieas!
S N 4

(h) Construct truth table for the following and
determine the truth value of each : 5+5=10
woe ] TTerel It o I W
AT O el 41 -
(i) [(pDg)>Dplog
(ii) (p-q)Vv~(pVvq)

( Continued )

/1229

ik

(11)

(i) Symbolize the following with the help of
logical symbols as used in propositional
logic : 2x5=10
[T HRETS KT (TE S AT
TS OS AR doOPrad el i -

(i) ‘But’ is truth functional, while
‘because’ is not truth functional.
e e, wwace R
SRS 2 |
(i) It is false that Lovlina Borgohain is
not an Indian boxer.
GO OS] (@ TSl JAMER QIR
TR IE T |
(i) You will pass in the examination if
and only if you work hard.
ot Rrwre oz w1 Mt = Wi v
32 41|
(iv) It is untrue that students are not
intelligent.
G20h1 T (7 T S = |
(v) If it does not rain, then we shall go
for shopping.
3fy qege i, o =i T@e sRats
I |
( Turn over)
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(12)

(j) Elaborate the differences between
deduction and induction. 10

R o TP TS 491 ALFIEE IR
o

* %k
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